Answer Key: 
Greatest Common Factor Practice (Beginning):

List the Factors and 
then circle the greatest common factor.

1. 
55

25
GCF: 5

2. 
24

36
GCF: 12

3. 
60

12
GCF: 12

4. 
30

90
GCF: 30

5. 
14

35
GCF: 7

6. 
15

60
GCF: 15

7. 
30

18
GCF: 6

8. 
48

80
GCF: 8

9. 
16

36
GCF: 4

10. 
77

44
GCF: 11
Answer Key: Greatest Common Factor Practice (Advanced):

List the Factors and then circle the greatest common factor.

1. 
55

77
GCF:11
2. 
12

36
GCF: 12
3. 
60

25
GCF: 5
4. 
63

90
GCF: 9
5. 
14

84
GCF: 7
6. 
102

90
GCF: 6
7. 
52

18
GCF: 1
8. 
85

80
GCF: 5
9. 
70

35
GCF: 35
10. 
77

35
GCF: 7
Answer Key: Least Common Multiple Practice One:
	1) 
	lcm=30



	
	2) 
lcm=12



	3) 
lcm=30


	4) 
lcm=30



	5) 
lcm=30


	6) 
lcm=140



	7) 
lcm=10


	8) 
lcm=10



	9) 
lcm=12


	10) 
lcm=36



	11) 
lcm=6


	12) 
lcm=60



	13) 
lcm=120


	14) 
lcm=12



	15) 
lcm=30


	16) 
lcm=12




Answer Key: Least Common Multiple Practice Two:

	1) 
	lcm=12



	
	2) 
lcm=60



	3) 
lcm=12


	4) 
lcm=12



	5) 
lcm=30


	6) 
lcm=12



	7) 
lcm=60


	8) 
lcm=30



	9) 
lcm=30


	10) 
lcm=70



	11) 
lcm=40


	12) 
lcm=60



	13) 
lcm=20


	14) 
lcm=30



	15) 
lcm=105


	16) 
lcm=6




Answer Key: Sample Word Problems:

1. To have no eggs or muffins left over, you would need make 60 egg sandwiches. The Least Common Multiple for the two numbers is 60. You would have to buy 5 dozen eggs and 6 packages of muffins (you know by looking at the factors and seeing that 12 x 5 is 60 and 10 x 6 is 60).

2. When you look at the multiples of 5 and 6, the first one they both have is 30. So, the girls will both inspect the 30th calculator.

3. 80 is the least common multiple for 16 and 20. However, you are pairing things together. Therefore, she can make 40 bundles of paddles and balls. She will need 4 packages of balls and 5 packs of paddles.
4. Their Least Common Multiple is 20, so they will both have a game on the 20th.

5. Tomas will have to eat three cookies for every one that Miguel eats. Therefore, they will have the same cookies each time the multiples are the same. For example, Tomas 3 cookies and Miguel 1. Or Tomas 6 and Miguel 2. Or Tomas 9 and Miguel 3. There is a pattern of multiples of one and three. This one is tricky.
